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1) Read the following text carefully, and then choose the correct answer from A, B, C
or D to complete the sentence that follows.

Students follow a tailor-made curriculum at the school, including subjects such as
Astronomy and Astrophysics. Lessons are a mixture of small-class tutorials, with
projects supervised by leading companies in both the space and technology industries.
Prominent scientists and engineers are brought in as guest lecturers, with students aiming
to achieve top grades in their Maths and Science exams. When they leave school, they
will be well-placed to take any number of different career paths. |
- The phrase which means "a course designed to meet the specific needs of

students" in the textis ........... .
A) tailor-made B) small-class C) well-placed D) career paths
2) Choose the correct answer from A, B, C or D to complete the following sentence.
- Studying is a ----------- activity — you're never too old to start!
A) proficiency B) global C) lifelong D) abroad

3) Choose the correct answer from A, B, C or D.

- My watch is less attractive than yours.
The sentence which has a similar meaning to the one above is:

A) My watch is more attractive than yours.
B) My watch is not as attractive as yours.
C) My watch is as attractive as yours.
D) My watch is the most attractive one.

e

4) Choose the correct answer from A, B, C or D to complete the following sentence.

Studying ------=---- lets me focus on my love of language in an analytical way-----------

A) Linguistics / . B) Lenguistics / .
C) Linguestics / ! D) Lenguistics / ?
SEE PAGE TWO...
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5) Read the following text carefully, and then choose the correct answer from A, B, C
or D to complete the sentence that follows.

You have to determine two things before attending a course at Extreme English; the
duration of the course you wish to attend and the nature of the course whether academic
or vocational. You will stay in one of our beautiful apartments. You’ll hear and speak
English all day long. You can either join a small group of other students of a similar
level, or request a course from your own choice. For example, you may require a course
in academic English to prepare you for undergraduate or postgraduate studies, or a
vocational course to help you with your career. Either way, you will live and work
together as a family.

- The two decisions that students have to make before arriving to carry out a course
at Extreme English are .........
A) joining a small group of other students and the nature of the course.
B) the nature of the course they like to attend and the apartment to live in.
C) the duration of the course and joining students of a similar level.
D) the duration of the course they like to attend and its nature.

6) Choose the correct answer from A, B, C or D to complete the following sentence.
R is very important. You should try to eat as much fresh fruit and vegetables as

you can.
A) Dehydration B) Circulation C) Nutrition D) Beneficial

7) Choose the correct answer from A, B, C or D to complete the following impersonal

passive sentence.

- People believe that exercise makes a huge difference to the way we feel.

- It is believed that
A) exercise makes a huge difference to the way we feel.
B) exercise make a huge difference to the way we feel.
C) exercise have made a huge difference to the way we feel.
D) exercise to make a huge difference to the way we feel.

8) Choose the correct answer from A, B, C or D to complete the following indirect
question.
- Do you know ?
A) where are your classmates
B) where your classmates are
C) where classmates are your
D) where classmates your are

SEE PAGE THREE...

wwwawazelnet oo ur piagutsdgs oo oxidtod




www.awazelnet ool JlgUl 08go o Jroail ol

9) Read the following text carefully, and then choose the correct answer from A, B, C

or D to complete the sentence that follows.
Not surprisingly, two of Jordan’s largest exports are chemicals and fertilisers.

Pharmaceuticals and other industries represent 30% of Jordan’s Gross Domestic Product
(GDP), and 75% of Jordan’s pharmaceuticals are exported. However, the majority (65%)
of the economy is dominated by services, mostly travel and tourism. Most of Jordan’s
exports go to Iraq, the USA, India and Saudi Arabia. Jordan has more free trade
agreements than any other Arab country, and it trades freely with many countries,
including the USA, Canada and Malaysia.
- Jordan has free trade agreements with ....................euuen....

A) Iraq, the USA, India and Saudi Arabia. B) Iraq, the USA, India and Malaysia.

C) Malaysia, the USA, and Canada. D) The USA, India and Saudi Arabia.

10) Choose the correct answer from A, B, C or D to complete the following sentence.
- Majed's -----m-um-- indicates that he has the needed experience for the required job.
A) conflict B) negotiate C) compromise D) track record

11) Choose the correct answer from A, B, C or D to complete the following sentence.
- When you are ready for something, you are ----------- for it.
A) prepared B) brepared C) pripared D) brebared

12) Choose the correct answer from A, B, C or D to complete the following sentence.

- I ate too much and now I have stomachache. I wish
A) I hadn't eaten so much. B) I had eaten so much.

C) I has eaten so much. D) I have eaten so much.

13) Read the following text carefully, and then choose the correct answer from A, B, C
or D to complete the sentence that follows.
The train stopped at eight o’clock, in the midst of a glade some fifteen miles beyond
Rothal, where there were several bungalows and workmen’s cabins. The conductor,
passing along the carriages, shouted, ‘Passengers will get out here!’

- A bungalow is ..........cc.eueuue...... .
A) a dense forest B) a house with one floor
C) a high speed train D) a train station
14) Choose the correct answer from A, B, C or D to complete the following sentence.
- Fatima's job involves going to ---=----—-- and conferences around the world.
A) rewarding B) headphones  C) seminars D) translation

N 15) Choose the correct answer from A, B, C or D to complete the following sentence.

S [E— to the exhibition if my friend hadn't invited me.
A) haven't gone B) wouldn't have gone
C) have gone D) will go
THE END
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